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Full Marks : 70
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Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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10.

OR (3721dT)
Describe metallic arc welding process with a neat

diagram and give its applications.

g1 ATH dfesT fafy &1 v w@oo a3 @
A1 9ui<l B dl s9d GUAN I < |

Explain plugging and Rheostatic braking and

explain how they are applied to D.C. series motor.

6
i U9 gyfoRied Sraxieq & gusmd an

q »Y fascarT gof der A ygaa &
SITd 8?7 Hs |

OR (3121a1)

Describe the method of power factor improvement

by using static capacitor. Explain its advantages.

ifae arRar &1 SuAT &vd gy wfda
onis g9fg & At &1 avfs &Y | su wrad
B AT B |
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In neon signs, argon gas is used to give:
(a) Red colour

(b) Blue colour

(c¢) Pink colour

(d) Green colour

e dodl # A A &1 YT
............ U & & ferg foar srar 8—
(31) <t ¥

(@) e <

(&) eIrEl 3

() B 37

The direct lighting scheme is most efficient
but causes:

(a) Glare

(b) Hard shadow

(c) Both (a) and (b)

(d) None of these

P.T.O
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OR (3121a1)

A hall 30m x15 m with ceiling height of 5m is to be
provided with illumination of 120 lumen/m’. Taking
utilization factor =0.5 and depreciation of 1.4,
determine the number of fluorescent tubes required,
their spacing, mounting height and total wattage.
Take luminous efficiency of fluorescent tube as

40 lumen/watt for 80 watt tubes. Show the
disposition of the tubes.
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(@) "are=
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Electric oven using heating elements of
graphite, can produce temperature up to:
(a) 1000°C
(b) 2000°C
(c) 3000°C
(d) 1500°C

faga 981 9y dwise aue geld—<
ST €1, ATUshH S~ HY Ghdl 28—
(31)1000°C

(@) 2000°C

(%) 3000°C

() 1500°C

The electrode of Direct arc furnace is made
(a) Tungsten

(b) Graphite

(c) Silver

(d) Copper

P.T.O
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OR(3721d)

What is difference between illumination and

luminous intensity? Explain it.

gdud vq g digdr @ < &1 Az 2
39 9H |

Now a days group drive is not popular, why?
Explain it. 4

TSIl O9E ared alsiyg TEl & aa1?
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OR (3121an)

Why is D.C. series motor not started on no load.

fescaT goft Mier & 9R fead «&F T8
FATT ST 27

What are the mechanical features of three phases

induction motor used in industrial drive? Explain it.
4
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(31) 1000°C

(@) 1500°C

(&) 3500°C

(=) 5550°C

(a) Dielectric material
(b) Ferrous material

(c) Non -Ferrous material
(d) All of the above

yfeRier afesT &1 SuAhr ... @ forg
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An elevator is a............... transpotation means
that moves people or goods:

(a) Vertical

(b) Horizontal

(c) Both (a) and (b)

(d) None of these
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Answer all Five Questions.

g ufa g & SR

2.  What is flood lighting and where is it used?

4x5=20
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(xv)  Inindividual drive:
(a) Each operator has complete control of his
machine
(b) No Load-losses are eliminated
(c) Both (a) and (b)
(d) None of these

xv) afedird arer &
(31) AP ATt Iy A2 A qof ey
¥ YEdr @
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(xvi)  The method of braking that can bring the motor
to stand still is :
(a) Rhsostatic braking
(b) Plugging braking
(c) Regenerative braking
(d) None of these
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